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PART 1 (35 points)
Answer the questions for (A) The Enemy.

A. THE ENEMY / Pearl S. Buck

Answer questions 1-4.

1.  Atthe beginning of the story, Sadao and Hana decide the wounded man is an enemy because he ().
(i) doesn't know Japanese
(i1)) comes out of the sea
(iii) threatens them

(iv) 1is a white man

(5 points)
2. After the prisoner leaves, Sadao knows the prisoner is safe because (—).
(i) Sadao gets a reward from the General
(i) he doesn't send him a signal
(iii) a Japanese boat picks up the prisoner
(iv) the police do not come to the house
(5 points)

3. Why do you think Sadao doesn't want to know anything about the prisoner? Give information
from the story to support your answer.
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4. For this question, choose ONE of the thinking skills from the Appendix (navy) on page 15
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(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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Sadao and Hana see the prisoner differently than the servants do. Explain why. Give information
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from the story to support your answer.
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PART 1II (45 points)
Answer the questions for either (B) All My Sons OR (C) The Wave.

B. ALL MY SONS / Arthur Miller
Answer questions 5-9.
5.  Why has Ann come to visit the Kellers?
(i) She wants to take Larry's clothes.
(i1) George told her to meet him there.
(iii) Chris wrote to her and told her to come.

(iv) She wants to talk to Joe about her father.

(5 points)
6. At the beginning of the play, Kate describes a dream where (-).
(i) Larry and Ann are getting married
(i1) Larry is flying his plane over their house
(iii) Larry comes back and takes over the business
(iv) Joe is found guilty and goes to jail (5 points)

7. Act I of the play opens with a scene at the Keller's home on a Sunday morning with Joe and Jim
reading the newspaper in the backyard. In the middle of the yard is a broken tree. Why do you
think Miller made this the opening scene of the play? Give information from the play to support
your answer.
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8. InActlll, Joe says "...if Larry was alive he wouldn't act like this. He understood the way
the world is made. He listened to me." Explain how Joe has misunderstood Larry.
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For this question, choose ONE of the thinking skills from the Appendix (nsoy) on page 15
OR any thinking skill studied in class. Use this thinking skill when answering the question.
(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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In Act I, Keller says to Chris, "I want a new sign over the plant — Christopher Keller,
Incorporated." Chris answers, "J.O. Keller is good enough." Explain why Chris says this. Give
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OR:

C. THE WAVE / Morton Rhue
Answer questions 10-14.

10. At the beginning of the experiment, Laurie (-).

11.

12.

8 Tmy

(i) is a weak student
(i1) believes in The Wave
(iii) doesn't write for The Grapevine

(iv) doesn't have many friends

Robert wants to be Ben's bodyguard (-).
(i) because he thinks Ben needs one
(i) so he can replace Ben one day

(iii) because Ben feels he is in danger

(iv) because the students asked him to be

Olwsl sWl] Jl @3 B iy5¢ 5 NN NPDYY KaNY MDY 9T NWH

(5 points)

(5 points)

At the end of the novel, Ben says he thinks that the experiment with the students might have been

"too much of a success". Why does Ben feel this way? Explain. Give information from the

novel to support your answer.
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14. For this question, choose ONE of the thinking skills from the Appendix (novi) on page 15
OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

What role does Ben's wife, Christy, play in the novel? Give information from the novel to

support your answer.
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<) ,’/,:\i\‘ovl\(\ ,’1 Answer the question for either (15) The Split Cherry Tree OR (16) The Road Not Taken.
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\/\',’I\’ Y= ,\,\ /41| 15. THE SPLIT CHERRY TREE /Jesse Stuart
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